EARAROBEEIERT — 2 N— IBISH —F

20165F2A 130 (+) 21@EE4H

m C2—3# C2 ¥o%4m® Lt ‘ [X%&] ™ ‘ (] — | & (&) 14000 TR
[AE4£] 1% :130,000 ™ ~ 23#&:30,000”  33%&:12,000 M  43%&:7,000H ~ 53 :4,000H
B\ ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S B BRERE :30. ~3-5- . — FEBF (£8)
i1l amyea—nk o4 ue 1(3_0)1 3-3-5-3 | 38.5 1 (5254) A=k "
R:TA—T4FAF—XH> B:I—ILKET7A BRIESS
S N © il :30. —-2-1- . - AR—X (£8)
2lglg|YVx>T1T1 v R N 56.0 1<310>3 a1 389 2 (5+221) AlLs .
L:TZRTL8— B:Fv—3I2T47 LRERS
< gese o AMES : 56— - HEXRE (EE)
3 o | VIV T wINS o4 B (12310/2% 5-5-6-5 | 39.2 3 ;1_734) SR R
RTIRATFIEIN B:vA<TZXE2—by T WE XF
s Ng— =W ; —6-2- — THEE (&8)
alzl 7| w1201 7L2 H o4 Ut (11.311/.21) 6-6-2-2 | 39.7 6 (4_667) L
LZAFAT—ILK B:ebh7ET FHAE
S B4 | REEC 1:31.4 4-4-4-4 | 40.0| — 4 4 | KBEX (EE)
5189 RIS vA— 54.0 (1 1/2) (3) | THERE
L:TANWRTy a2 B:Fd—H— R EE
. 4 4 | BHEA 1:31.5 7-7-7-6 | 39.5| — 5 487 | REM (£H)
6!5|5|HT<IL 56.0 (1/2) (45) | FEPE
2L LINT Ry IR B:RIVANTFR =R77—L
. - BEAEIE : -9-9- - THERE (1E8)
7 6lva—377-n it 4 mas (11.311/.2% 8-9-9-8 | 39.3 8 ;4_73 ggg 5
H R YLy B VATV — HET77—L4
S, ® IWITAE 132, -8-8- . - ABRE (EE)
8 NP2V RS R H o4 T (12312/23) 9-8-8-9 | 40.1 9 51_353; el
R:AP—3ITAR—Lb BiL-SHZ b EEiLie
B 4 | AEE—E 1:33.2 1-1-3-7 | 41.8| — 7 434 | ARkt (1£8)
9 4| bo—=%27 54.0 ) L | B T.SH-2557
RHYIRT4 I B:TrpAbIT 752 RS
® I—F—@EBIERL
|S=7r= 4,8,1,9,2,7,5,6,3
Ao=5"= 4,8,1,9,2,7,5,3,6
G=7"= 8,7,4,9,1,2,5,3,6
43—+ — 8,7,1,9,2,5,4,6,3
[ RN
B 1 160/ 74K 1-8 130 & 1-8 120M &R 1-2-8 200M
# B 1 1004 1-2 120M B E 1-8 190 EE 1-8-2 410
8 1004 2-8 170H BB 1-8 220M
2 120M

ABICOVWTRDTEEERROODE. TR LIV,




